
External Travel Analysis 

NCHRP 365 vs. iTRAM



E‐E, E‐I/I‐E



NCHRP 365



NCHRP 365



Use of Statewide Models

• 13 of 19 states that had an operational 
statewide model in a 2006 survey used it for 
MPO‐level external station analysis

– NCHRP 358

• MPO External Trip Forecast Methods Survey, 
2006
– Survey high‐growth MPOs



E‐E Goals

• Decide which external 
stations will have 
through trips

• Figure out percentage of 
E‐E trips

• Figure out distribution 
of E‐E trips



E‐I/I‐E Goals

• Figure out number of E‐I/I‐E trips
• Split into trip purposes (HBW, HBO, NHB)
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E‐I/I‐E Goals – NCHRP 365 Method

• Figure out number of E‐I/I‐E trips
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• Subtract E‐E Trips from count E‐I/I‐E Trips

Count:            20,000
E‐E Total: ‐ 3,000
E‐I/I‐E Total:   17,000
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E‐I/I‐E Goals – NCHRP 365 Method

• Figure out number of E‐I/I‐E trips
• Split into trip purposes (HBW, HBO, NHB)

 Then, forecast each station…



E‐E Goals – iTRAMMethod

• Decide which external stations will have 
through trips

• Figure out percentage of E‐E trips
• Figure out distribution of E‐E trips



Blue = iTRAM network
Red = Sub‐externals
Purple = Sub‐centroids



iTRAM
ID 48672 48742 48745 48824 48975 48993 49403 49805 49831 49839 49846 49855 49857 49873 49991 49993 49998 118245

TAZ 1003 1000 1000 1027 1023 1025 1033 1009 1017 1017 1016 1020 1020 1015 1010 1011 1010 1036
48672 1003 101 35 134 209 23 175
48742 1000 232 4 726 79 107 24
48745 1000
48824 1027 11 95 0
48975 1023 27 600 6 352 52 106 27 129
48993 1025
49403 1033 15 70
49805 1009 10 6 7 38 3 104 514 723 6
49831 1017
49839 1017 33 930 333 52 1155 501 2
49846 1016 4 123 2 52 58
49855 1020 34 589 103 1180 11127 253 4
49857 1020
49873 1015
49991 1010
49993 1011 80 46 693 263 327
49998 1010 90 122 531 330 34 11266 430

118245 1036 0 124 70 7 1 71 5



E‐E Goals – iTRAMMethod

• Decide which external stations will have 
through trips

• Figure out percentage of E‐E trips
• Figure out distribution of E‐E trips



E‐I/I‐E Goals – iTRAM Method

• Figure out number of E‐I/I‐E trips
• Split into trip purposes (HBW, HBO, NHB)



• Subtract E‐E Trips from count E‐I/I‐E Trips

Count:            20,000
E‐E Total: ‐ 3,000
E‐I/I‐E Total:   17,000



E‐I/I‐E Goals – iTRAM Method

• Figure out number of E‐I/I‐E trips
• Split into trip purposes (HBW, HBO, NHB)



• Run iTRAM Subarea for each trip purpose 
separately (HBW, HBO, NHB) to get percentage 
of each  E‐I/I‐E Flow by iTRAM Trip Purpose

• Apply percentages of each trip purpose to 
calculated number of E‐I/I‐E trips 



E‐I/I‐E Goals – iTRAM Method

• Figure out number of E‐I/I‐E trips
• Split into trip purposes (HBW, HBO, NHB)

 Then, use iTRAM for forecast 
year to forecast each station…



External Stations that are not available 
in iTRAM

• For smaller 
external 
stations, use 
count and 
split by 
percent of 
each Trip 
Purpose   E‐
I/I‐E Flow by 
Trip Purpose



E‐I/I‐E Comparison of Results

iTRAMMethod
Attractions Productions Total

HBW 13% 13%
HBO 25% 28%
NHB 10% 11%
Total 62137

NCHRP 365 Method
Attractions Productions Total

HBW 12% 34%
HBO 9% 23%
NHB 11% 11%
Total 61168





Pros & Cons
NCHRP 365
• Pro: Established method 

Pro: Spreadsheet ready to 
use

• Pro: Less time‐consuming

• Con: Older equations
• Con: Non‐local equations
• Con: Limited to smaller 

MPOs
• Con: More subjective 

decisions

iTRAM
• Pro: Local data used
• Pro: Objective forecast 
data 

• Con: More time‐
consuming

• Con: Results less 
tested by us



Questions?
Comments?

Other methods to share?


